
Fall 22 Exam I

a) On the yz-place ,
x
= 0
,
So

we get -2y+3z
= 8 -

for the y-intercepts z
= 0
,

so -2y
= 8
, y

= -4 .

The point is (0 ,
-4

, 07 ·

b) If the base is U and the

trec
hypotenuse

is 5 /

b + 42 = 52

42 = 9

n
= 3



The point
is (0

,
- 4

,
3)

ch
z

I

(0 ,
-4

,
3)
. - 3

n

- ~ 2

- L

10 ,
-4 ,

04 I
-- X

-x
- 3 - 2 -

1
n

I
-

(6 ,

-4
,
3)

-
-

6



2) For the domain
, we

need

+ -

130+
q

as for (5 ,
3)

:-j2
it

=
So 15/3) is in the domain

.

b) For (1 , K ,

(1
+

- 1

I
Y + Ya

- 1
the

--23/3 (0 ,
so train



x y2C) Draw ---I- 0 .

4

Ie x
=

0= o

y
=I 3

If y
= 0
,

- 1
= 0

x
= =2
I

- 3

---"
I I I I X

-

- 2
- I -

ILuk- 2-
-3



2x - 1

3) If y =
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